25

AN AN AN AN

— N N N

(

)

O O O o b

(B} d

(

L=1,m00
W= &7
15n)

D
2]
7]
6 .49
D 5 %

D 4 %
b 6 %

(

()

)

D
2]
7]
3.15
B 8 %

D 4 %
b 5 %

(

()

)

D 3 %
D 9 %
b 5 %

(

()

)

%
2

#
20 #

#




(B} (
o
H6
s o H30[JH2 § 423 2 B
- 191[ 18|9] ( )
W= g7
) 163[ 16[1] 423
4 1.78
5 o
85 %[ 5% .
95 %[ $3% )
B O 71%T71%
SB 5 #
L =280 g%%%ma> ( )
W= g7 14
5 19m) 3 .14 ) #
5 #
64 %] 58 %
42 %] 42% 0)
% 6 %] 6 %
o
47 %
S5
L= a0 H26[]H22
W= oo 36[ 35] ( )
34[33]
6 ) 0
1 #
94 %[ 4%
98 %[ 8% 0)
B 99%] 2%
| () (
o
o
HL
L = 6m6 5 g%6ﬂH2> ( )
W= in6 33
6n)
7 90
1 o
99 %[ 99 %
98 %[ 8% )
B 99%] 99%




(B} ( -
>0 4 B i
L=3m5 H29[JH27 >
W o 47 ()
8 ( 25m) 2509
%
€ 3 39%] 39% "
42 %] B8 % 0) 4
B 0% 0%
[ %
S %
L1 moo H31[]JH2T
W= 5 gg ( )
9 ( m 1.9
%
¢ 1 91 %] 91%
84 %[ $4%
B o7T2% T2% ) 0
B %
S 8
_ H28[]H2 T
Wems | jsol140] ()
10 ( 4°18m 4.77
(2 1 1
65 %] 64% ¥
87 %] 79 % O)
B  43% 43%
| i
HL 8 # ?
L = 6 O H6289[]H27 ( )
( W:B;Z 21[20]
11 1.45
%
€ 2 31%] 29 % #
64% 56 %
B0 %] 0% () #
B %
H 6 #
L = o 0 H29[]JH2 T
W= B0 éz ()
12 ( 25m 1.74
(2 1 #
63% 63%
62% 62 % () #
% 0 %] 0%
[ ] HO
H33[]H2Y " o2
_ 23 ( ) 5
L =350 22 . "
13 W= 2 .
( ) ¥ 28
96 %] 96 % ¥ %
100 %[]100% ()

#

0%] O




Ne [
(B) (
(
)
%
56 ¥
L=2,mQ0 H1
55mL=1ma7o 18 h
479 ( —)m 110[ 12|2] ( )
14 aemL=1mzeo °°L 4011 5
( Vo
59 %] 38 %

(

)

B/




9 52

(B) (
4
Ssa
o 1612h A 4 5ha
[1’162}7288 3 .15 24 . 4 66 %
: 23. 3 01 #
1,227
[ ] 120ha [1,P266 ( )
15 [ ] 5 90 3 26
9 9% 8 23 24
0 3 26 17ha) 2510
[ 98|% 2510
1 %0 () 9 69
[ 99](8 % :
% 96% 9
[96]]8 % 26
4km 323h a i
3.15 25. 4 6 .16 2 B 6 5
Sa 24. 3
H3
166[ 16(5]
[ ] 4 04ha 147[ 14|5] ( )
16 [ | " 3.28 20
89 %] §8% 22 24
9 9% 8
[ 991]|8 % () 25 4 26
B 87% §5% 97
35
8 74
[ ] %
4 #( 0 lha
)
3.15 25. 4 6 .16
24. 3
S8
Ha
163[ 16[4] 24 01ha
[ ] 2 5ha 157 ( ) #
17 [ ] 3.47 25 0.88 a 26
# 27
96 %] 96 % 60
97 % 97 % 0)
B 60%] 6% 24
N %
%
S5 o4 3.15 25. 4 6 .16 H 3
H29 [ H24 :
54
[ ] 0.3Ba c 3 ( )
18 90
[ 1 % 25
98 %] $8%
97 % 97 % 0)
B  95%] 95%




(B} d

10 %
HQ o
° : H 3

° 1 198[ 150,

14 #ﬁ
5,086 4
: ; g ? 42 %1 $3 %>
6m 11 0]%
o 8 11 0]%
(_11,08D




